Total number of printed pages-8
3 (Sem-2/CBCS) ECO— HC1

2025
ECONOMICS

(Honours Core)

(Introductory Macroeconomics )
Full Marks : 80
Timel: 3 hours

The figures in the margin indicate
full marks for the questions.

1. Answer any ten from the following quesﬁons 2
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(@) Who was the first economist to have
coined the term ‘macroeconomics’?
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(b) What is meant by depreciation cost?
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(c) Distinguish between i
inte i
and final goods. rmediate goods

(k) Distinguish between demand-pull
inflation and cost-push inflation.
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(d) Give one e le of | AEETE)
xXample of t *
x ransfer payment. | () Which country is facing ‘hyperinflation’
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(¢) - Define gross domestic product. el TS (IR (T TS JArR© T
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0y, g(l;llilt is velocity of circulation of N (m) Mention Say’s law of market.
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(i What i G ' [n) State one essential condition of
9 ati1s money, supply 2 (.—;l [~/ |g] Keynesian income determination.
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ow do i ; Eupli e . : :
HitH ?es credit creation affect money - 1e> (0) In which case is LM curve horizontal ?
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: ; 5. Answer any five from the following
(i) What is liquidity preference questions : 2x5=10
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() Define ‘open mark
et o e 1 )
tool of monetary policyf) rations’ as a
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(a) Distinguish between real GDP and
nominal GDP. _
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(b)

Mention two types of transactions that
are included in the current account of
balance of payment.
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(c) What do price indices show ?
WS P [ e

(d) Distinguish between net domestic
product and net national product.
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(e) Write any two functions of money.
TR R 751 e Bat

() What is speculative demand for money ?
RN PHAITS WSy fe

(g) Define inflationary gap.
TR Fr= eat fgp

(h) What is money multiplier formula ?
T4l BT ! [ e
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3. Answer any four from the following
questions : 5x4=20
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(a) Distinguish between balance of
payment and balance of trade with
example.
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(b) Distinguish between current and capital
accounts of balance of payments.
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~ How would you measure gross national
expenditure ? State the limitations of
this method.
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(d) Discuss the modern.approach to money
supply.
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(e) Explain the three motives for demand
for money according to Keynes.

-BO3FA 0059 S Contd.



()

()

2 T0o JUF HiReN fBFE wfsam i
391

What is liquidity trap? Explain its
significance on monetary policy.
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Explain the causes for the shift of the
IS and LM curves.
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What is fiscal multiplier? What factors
affect fiscal multiplier ?
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Answer any four from the followmg

questions :

10x4=40
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(a)

(b)

Explaln the various basic i issues studied
in macroeconomics.
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Discuss the process of national income
accounting in an open economy.

& SIS I O SomiF ARG St
90|

BO3FA 0059 6

| BO3FA 0059

()

(d)

Explain the process of circular flow of
income. In what ways do international
transactions affect this flow within a
closed economy ? 7+3=10
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Critically explain the cash transaction
approach to the quantity theory of
money.
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|E ,bompare and contrast between cash
/ transaction and cash balance approach

to the quantity theory of money. Which
one is superior ? Give reasons. 7+3=10
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Explain the various tools of monetary
policy. Which one is appropriate to the

developing countries ? Give reasons.
8+2=10
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(g) Define inflation. Explain social costs of
inflation. 3+7=10
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(h) Evaluate the Keynesian model of
income determination.
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(i) Compare the classical and Keynesian
models of income determination and
point out the fundamental differences
between the two.
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() Derive IS and LM curves. Explain their
properties. 6+4=10
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